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48.  Consider the following statements about Arctic Council:  
 1.  It is an international grouping of scientists working towards sustainable energy extraction in the Arctic.  
 2.  Arctic Council had predicted the polar vortex that leads to snowstorms in the Northern part of the USA.  
 3.  India enjoys observer status in the Arctic Council.  
 4.  Arctic Council does not prohibit commercial exploration of resources in the Arctic.  
  Which of the statements given above is/are correct?  
  (a) 1 and 2 only   (b) 3 and 4 only   (c) 4 only   (d) 2, 3 and 4 only  
49.  United Nations General Assembly has declared the year 2021 as the  
  (a) International year for creative economy of sustainable development.  
  (b) International year of fruits and vegetables.  
  (c) International year of Elimination of Child labour.  
  (d) All of the above   
50.  Which of the following statements regarding the Permanent Court of Arbitration (PCA) is/are correct?  
 1.  It works to resolve disputes that arise out of international agreements between member states.  
 2.  Only the disputes between the Sovereign Governments not between the private members can be resolved 

here.  
 Select the correct answer using the code given below.  
 (a) 1 only   (b) 2 only   (c) Both 1 and 2   (d) Neither 1 nor 2  
51.  The smuggling of cattle and illicit trade across the Indian borders comes under the ambit of which one 

of the following organisation?  
  (a) World Trade Organisation   (b) World Customs Organisation  
  (c) United Nations Security Council   (d) None of the above   
52.  The Travel Industry Designator (TIDS) is a unique code that allows the bookings of travel agents and 

other tourism sales intermediaries to be recognized by all industry suppliers.  This code is provided by 
the  

  (a) Respective National Governments    (b) International Air Transport Association  
  (c) UN-World Tourism Organisation   (d) International Tourism Organisation   
53.  The Indian government has decided not to join the Regional Comprehensive Economic Partnership 

Which of the following may be the potential impact of this decision?  
 1. Reduction in India's exports to ASEAN nations.  
 2. Reduce Visa availability for Indian students in European Nations.  
 3. Increase in non-tariff barriers for exports from India to Asian markets.  
 Which of the statements given above are correct?  
 (a) 1 only   (b) 1 and 2 only   (c) 2 and 3 only   (d) 1, 2 and 3  
54.  ‘Depsang Plain’ sometimes seen in the news recently, is located in  
  (a) Ladakh   (b) Arunachal Pradesh   (c) Jammu and Kashmir  (d) Sikkim  
55.  Recently, there was a repeated call to make India permanent to the G7 Club. By Joining this what 

would be the benefit for India?  
  (a)  India will get a permanent seat in the United Nations Security council  
  (b) India can use the G7 to intensify cooperation between the world’s democratic and technologically 

advanced nations  
  (c)  India along with the G7 countries to control the rise of China in the South Asia region  
  (d)  As soon as possible India will get the tag of Developed Country status  
56.  Consider the following statements with reference to the Red-crowned roof turtle:  
 1.  Currently in India, the Sundarbans National Park is the only area with a substantial population of this 

species.  
 2.  It is listed on the IUCN Red List as a critically endangered species.  
 3.  The diet of the species consists exclusively of water plants.  
 Which of the statements given above is/are correct?  
 (a) 3 only   (b) 2 and 3 only  (c) 1 and 2 only  (d) 1, 2 and 3  
57.  Consider the following statements regarding the Treaty on the Prohibition of Nuclear  Weapons.  
 1.  It prohibits States Parties from developing, testing, producing, manufacturing, acquiring, possessing, or 

stockpiling nuclear weapons or other nuclear explosive devices.  
 2.  The Signatories are barred from transferring or receiving nuclear weapons and other nuclear explosive 

devices, control over such weapons, or any assistance with activities prohibited under the Treaty.  
 Which of the statements given above is/are correct?  
 (a) 1 only   (b) 2 only   (c) Both 1 and 2   (d) Neither 1 nor 2  
 


